HW8 HW 167 grading KEY F08
Assigned 11/18/08   


Due: 
11/25/08 


REQUIRED: 12.1, 12.2, 12.4, 12.6, 12.9, 12.10a, 12.17, & 12.20 (show all hypothesis testing steps).  OPTIONAL: 12.5, 12.7, 12.16, & 12.19.
	
	Pts
	awarded

	All required exercises are done in a thoughtful and careful manner. 
	2
	

	12.2) This is a comparison of independent groups. Data coming from unrelated populations (community hospitals and tertiary-care hospitals). There is no matching during sampling.
	1
	

	12.4a) The stemplot shows that the distribution for men is shifted down the axis, indicating higher values on average. Groups appear (visually) to have comparable spreads and no major departures from Normality. Students should have a cogent discussion of findings.

Men | |Women

----------

    |1|133

   7|1|79

 320|2|2

   5|2|

    ×100 (mg)  

	1
	

	12.4b) Group means and standard deviations are shown in the table. The higher average value in men confirms what is seen in the back-to-back stemplots. The higher variability in women, as witnessed by a comparison of standard deviations, was not expected based on visual comparisons alone. 

Group

n

x-bar

s

1 (men)

5

219.40

32.370

2 (women)

6

163.83

41.730


	1
	

	12.6b) SE. = 22.356; 95% confidence interval for µ1 − µ2 = (219.40 − 163.83) ± (2.262)(22.356) = 55.57 ± 50.57 = (5.00 to 106.14) 
	1
	

	12.6c)  tstat = 2.49. Using df = 9 based on computer output, the two-sided P is between 0.05 and 0.02, suggesting that the evidence against the null hypothesis is statistically significant.
	1
	

	12.10a)  n = (2)(402)(0.84 + 1.96)2 / 102 = 250.88. Therefore, use 251 per group.
	1
	

	12.17 Bone density in newborns. 
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; dfconserv = 76; Use 60 in Table C to find  t60,.975 = 2.000. The 95% CI for µ1 − µ2 = (.098 − .095) ± (2.000)(.003558) = .003 ± .007 = (−0.004 to 0.010). 
	
	

	12.20 Echinacea. The assignment instructions asked students to show all hypothesis testing steps. Step A. H0: µ1 = µ2 versus Ha: µ1 ≠ µ2
Step B. SE =  √(0.982 / 337 + 1.142 / 370) = 0.07976; tstat = (1.60 – 1.64) / = 0.07976 = −0.50; dfconserv = 336 (dfWelch = 702.7)
Step C. Using the 100 df row in Table C, the one-tailed P > .25 and two-tailed P > .50.  Therefore, the evidence against the null hypothesis is not significant. Conclude: Echinacea had no significant effect on the duration of symptoms. 
	2
	

	TOTAL SCORE
	10
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